MIAMIDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
‘ (305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Quality Engineered Products, Co., Inc.
4506 Quality Lane
Tampa, FL 33622

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series 16 ga Outswing Commercial Steel Door-Impact

APPROVAL DOCUMENT: Drawing No. 16GACOSD, titled “16 gauge Commercial Outswing Steel Doors”,
sheets 1 through 3 of 3, prepared by manufacturer, dated 05/06/04 and last revised on 07/13/04, signed and sealed
by C. F. Femnandez, P. E. , bearing the Miami-Dade County Product Control Approval stamp with the Notice of
Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply

with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 02-1011.05, consists of this page, evidence sheet E-1, as well as, approval document
mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.
CTC NOA No 04-0220,02
Expiration Date: January 30, 2008

Approval Date: August 05, 2004
Page 1




Quality Engineered Products, Co., Inc.

A.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS .
1. Manufacturer's die drawings and sections.
2. Drawing No. 16GACOSD, titled “16 gauge Commercial Outswing Steel Doors”,
sheets 1 through 3 of 3, prepared by manufacturer, dated 05/06/04 and last revised
on 07/13/04, signed and sealed by C. F. Fernandez, P. E.
TESTS
1. Test reports on 1) Air Infiltration Test, per FBC TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202.
(Qualified under HTL-0050-1012-97)
3) Water Resistance Test per FBC TAS 202-94 (Not Performed).
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC and TAS 202-94
Along with marked-up drawings and installation diagram of Steel Commercial
Steel Doors, prepared by Certified Testing Laboratories Inc., Test Report No.
CTLA 114W, dated December 09,2003, signed and sealed by Ramesh Patel, P. E
Note: This test report has been revised by addendum letter dated May 26, 2004,
issued by Certified Testing Laboratories Inc.
2. Additional test report HTL-0050-1012-97 tested per SFBC, PA 202-94, issued by
Hurricane testing laboratories, Inc. dated 10-16-98, signed and sealed by Timothy
S. Marshall, P. E.
CALCULATIONS
1. Anchor verification calculations, dated 01/14/2004 and revised on 06-09-04,
prepared, signed and sealed by C. F. Fernandez, P.E.

QUALITY ASSURANCE BY:
1. Miami Dade Building Code Compliance Office (BCCO).

MATERIAL CERTIFICATIONS

L. Tensile test report prepared by Certified Testing Laboratories Inc., Test Report
No. CTL 1023J (CTLA114W), tested per ASTM E-A370-97, dated December
02,2003, signed and sealed by Ramesh Patel, P. E.

2. Notice of Acceptance No. 01-1108.09 issued to Apache Products Company for
“EPS-Expanded Polystyrene Insulation”, expiring on 01/11/2007.

STATEMENTS

1. Stateman letter of conformance and “No financial interest”, dated 02-05-2004,
signed and sealed by C. F. Fernandez, P. E.

2. Statement letter of compliance, as a part of the above referenced test report,
issued by Certified Testing Laboratories Inc.

OTHER:

L. Test Proposal by Q. E. P. dated September 19, 2002, approved by BCCO.

2. This NOA revises NOA #. 02-1011.05, expiring January 30, 7(2,.94% \ éL nu o]ﬁ

Ishaq L. Chanda, P.E.

Product Control Examiner

NOA No 04-0220,02

Expiration Date: January 30, 2008
Approval Date: August 05, 2004



PR " TR AR R R R . "5 ) »
76" MAX. 6 MEX 2 @)
g W “ % . n i Q rd |
z 72 _ % 4 72’ 2 B <]}
# [ n « I " m " ,7' @ |
8 .« . .2 - 8" . . 8 § 553, _
. d . i 4 ‘ e " . 4 : o .
=2 - _ = N 1 -gl)jé'ﬁ\._.? >_
:\{} k— s :g: =, “ _mi :g: < o ;LIJ 'g o Q Z |
’ P — ; =, e =, fe o] F: i 00
,“i (—Dz = I_I_-_._—" l—i (_Dz = | E: %g g‘é q
4 ¥ 2 T
2 2 ovee o
2| | Ttem &2 : ~ Ttem #2 g )
51 ) | 16 Gange = o 3 S 16 Gange N N =f
. : ” nVE . b . {——]J?OOI'S Tre .ot “ . * . !t:} . 5 _.. (—-'—]foors & _ E O !
L INAC ' . Co . v : ;
L-* 1 ACINE S I - INACTIVE : - ACTIVE'. () O
_ ‘ ’ - _
NI L3 G2 - - A b L3 G2 :)
’ - - bt - ! : .
] ‘ © Tied IR ANES % . y '
s R (AR s | molem Hem#ﬂ-*h; 42 ey
- | s | T NE ' Q-O -
T M3 1 ’ H - : Hg : 1 ’ . m 'm_ ’
B2 Core M Bz .| | Cor _ 2, Compliance of these #§ L]
L a . | Tl i | 1l | units to FBC egress/] § 2
Ttem #1 l | "o Ttem #] | ‘escape requirements >_ ()
16 Gange T1™ 1. H2 T . 16 Gange T H2 - = sk
Frame—s| : J 3% I(—JS Iltemﬁﬁ e : Frame— | . J3A.g§ ‘L—Itemﬁé E © to be reviewed by ‘ }_ pad % )
LY SN = ' el L building official ona | L}~ &S}
L2 4miee T__T_(4) Total Rockwood 580 Surface Bolts (2) Exterior of Active, 7 164 e, t Ives 360 SurFace Bults _ case by case basis. | - ’i :\?1 .
: (2) Interior of Inactive. (ltem #4) . ' (Q)Intemr of Inactive. Item#s , . o | <[ q; qg
g : — OOk
EXTERIOR VIEW S - EXTERIOR VIEW | - 2|ep
‘ : S A : : : | 1 AlA
PRODUCT REVISED - ) A ~T !
%’b‘“m MF'QI‘“ . » ] " . i
N.o‘{»-bl?d 02, - ' .
- ~ ey e, ar
: Loc stested Tem #10- tha (—IM e S — = 3
[Cockt ted . ~ - . usas - — ) =3
PDQeS rtﬂm ’;ﬂ Kol MR 1 . |Schlage mortise lock model LO453P | ‘ NES §
mortise lock mode — . |Sargent mortise lock model 8225NL . | | %’L s
De5|gn Pressure Ratxng (Outswing Double Doors) wl (4) Rockwood surface bolts - - .30 , =1 m
[Where water infiliration Where water infiltration Requirement is : Desngn Pressure Rating (Outswing Double Doors) w/ (2) Ives surface bolts (Inactive door) B g % 1 th_;
IRequirementis needed* not needed or protected by overhang - [Where water infiltration Where water infiltration Requirement is 3 E:E; o1 -

. . - - , . Requirement is needed* not needed or protected by overhang <21 .1 -
Positive -~ Not approved without overhang® |~ __+00 PSE - |Positive Not approved without overhang* . +70 PSF g5 T 1 = i
Negative Not approved without overhang® -90 PSF . | |Negative Not approved without overhang* -70 PSF ‘ 4 f; q‘f’t, 2 =
* Unit shall be installed ai location protected by overhang such that overhang ratio (OH)=OH * Unit shall be installed at location protected by overhang such that overhang ratio (OH)=OH g bgo' W) “’5) -3
length/OH height greater than 1. ' : : " : . length/OH height greater than 1. T ' : : ? 5 E LS 1




"REINFORCEMENT-

7 GAUGEHINGE .-

Pexl¥s 3T Ztl’{?érmie;er
Gasketing wi #6 x 518" _
i < Screws 6" on Center ITEM#14 -

3/8" x 5" Dynabolt Sleeve Anchor ~ Exterior
by ITW/Red Head w/ 3/8" EMT

Welded Pipe Sleeve into Masonry

B2

v . v . . - .
" X X4l 16 Gauge Steel
Spot welds. Jiy -
pot welds ?.:x: Frame -
. - 1 . N
]

g1
ITEM #3 I
-1 (3)Hager Hinge_s‘j"E

: 4*1!2"3{_4-'1!2"

lD“

Spot welds—

5. . 2

RU&™T

L 4

1

Steel Hinge Plate .
7 Gange x 1-1/4" 3 10"
Frame nge Reinfbmcementl

ITEM #3

(3) Hager Hinges [
T4-102" x 4-112"

| |

. i 1
o xa
Spot welde—{t 3 H

Spotwelds_|%,
‘ X
]

h 412"

Spot Walds—| 5% [ Doox

-

+1IT

8"

Spot Welds—{ 5% 1
. . 11X X

Jrwmal

‘- Seel Mortise Lock Reinforcement

UL x 2102 x 12 Gange -
EZ

5 | T 16 Gauge Steel _

b-o}
1

st [§—Door
[ . .. B
i

16 Ganugei(.060) STEEL
Spot ’Wel&s——-—:}

Spot Welds—{ &% |

Steel ASA Strike Rei:ifomelt;ent

A]l Voids Fi lled w1th Mmeral

16 Gaﬁge (.060) STEEL
~—Door

iIt*F

4-7ig"

3
32 THICK

I— FRAME PROFILE

5-3i4"

Y3

Item #1

1 ‘{2 13
16 GAUGE STEEL ¥

¥

2"

1787

s §

we O Ve

1-1/8" % 2-1/2% x 12 Gange
- F2 '

“—# 2 3/8” PIPE WELDED TO
. BACKSIDE OF HOLLOW -
'METALFRAME - .

111 JE g 74

Tack Weld & Caulk

v

4-13016"

16 Gauge Steel Fulf Length

Top Channal
Spot Weld 4" on Center

16 Gange Closer”

R&mfuzcemen’c

 Tack Weld to Chiarmel

16 Gauge Steel Full Length

Vertical Hit..Stiffener
Spot Weld 6" on Center [

I?-‘Eit

" PEMKO 2005AV

Iall

ALUM, THRESHOLD

St;eel Hinge _Pla&e
7 Gauge x 1-1/4" % 10"
Doot Hinge Reinforceraent

D2

- . = - . 0 . i ] T < - ‘. et - H
* . . ' ;1/4“ x 2" ITW/Tapcon set 12" on Center

(Embeded into Concrete 1-1/4" Minimurm)

— :-;fifgﬂit:él Door Section C

13/16" -
| 2-1pm

o 115!16" ;

Baftqm Charmel -
Spot Wq]d 4" on Center

" PROPUCT REVISED
us ¢o p!yiﬂll with the:Florids -

02200 }
“‘Q‘ELA::——'ZM &S

-y

=

__]“"‘[__l"j[ 1306*

20 Gm:ge Steel Hat Stiffaner

- Spot Weld 8" on Center
Fuall Height of Doox

1- 15!16"

-~ Avf'r‘ w_ .

PRODUCTS -

.Clgn

jENQNEEééD;

'- muALlTY T

i

€2

Apﬁrov.al .

: Hurricane Test

)

rewing # Series 16GACOSD” .

| ouTswinG: STEEL: DOORS -+ - 3

| 16 GAUGE " CoMMERTIAL .

L



) [‘ 16 GAUGE STEEL LOCK BOX 16 GAUGE(060) ' . ' s ] s
SPOT WELD 4 PLACES STEEL DOOR - o o a v
| - 38 X 5" DYNABOLT SLEEVE | ® 01 * o ee ] v 3000 ps =
N ‘ ANCHOR BY ITW/REDHEAD 4 Folllow | _
| l ‘ l{‘l L {5 C f du 0 "i .
| 7 Ty ©| 7 1xa" Typiral ]  foreen | ey = % MAXSHIM >]
}T — I Steel H’fgeiR’imﬁ’mmem " WELDED %" EMT PIPE SLEEVE _ A | o |
Steéel Lock or Strike Steel Rib Core L-1A4" 2 10%5 7 Gange _ | - 1l : :'j‘P enko 347168 Door Tap T-I-?“a’fhc‘“tﬂﬂ'mu <}
.- —— Reinforcement K3 : ) wi 46 x 51 ’;;'clex;ri ;1) on Centey ‘ ﬂl_ !
' . 1-178" % 2-12" x 12 Gauge o o _ Pem}o “68AR PumneterGasketme——J ( o _ (/) E
SR - (ITEM 2) o A wi #6 x 58" Sczews 6" o Canter _ ) O =
16 GAUGELOCKBOX i 16 GAUGE (.60 : ‘ (Item #1 4) N Exteriar l-—- U -.
: ,[— SPOLWITD ATLAGE 1_3l4 THICK. STEELDOOR ' - - VOID TO BEFILLED BY - o O
PN S . — MINERALWOOI[.’OREPS N : 2
'k {retabi vt ~ abatleve]l, BYAPPACHBW'CURRENTNOA.‘ ' s
[Tl b W 3
- SteelLock orStrike . ' Steo] Hinge Reinforoomint ITEM #16 (Iiemﬂﬁ) - . ' ' 8 i
——— Reinforcarment: “ITEM #15— EXPANDED 1-1M4" % 10"x 7 Gﬁﬂg& it Pem]m 2005&?&1111:1111:11:1 P Pem]m 3IERCN Daor Bottom Sweep 0. :
1- 153" % 2-142" % 12 Gauge 'POLYSTYRENE CORE - =2 shuldvd’?'myl Seal | Dy -/ #6 % 314 Screwrs 6" on Center e
~ (BY APACHE PRODUCTS); $ (Ttom 13)

l —VINYL GASKE'I‘ .

ENGINEERED,

gz s % ITW TAPCON W 1-1/2"
| . o AR 7 EMBEDMENT INTO CONCRETE
Peniko 312CR Petimeter Gasketing (fferm #a) 'TfM 1 ey AX s | - L% e e
w.l' #6 x-5/8" Scnzws &" on Center el : » .
Periko FI5CE Gasketing ITEM#7 ‘ . T "~ BILL OF MATERIALS
TEM|QUANTITY - DESCRIPRTION

o #f 6 x M8 Screws 6" on Center
HBc:th Sides (Item #1 2)

: cL‘LHem#sthB H

ITEM#2= Extarioy

16 GA (.060) MIN 14 GA (.067) MAX. STEEL HOLLOW METAL FRAME
16 GA (.080) MIN 14 GA (.067) MAX. STEEL FLUSH DOOR FYMIN—41 ,200 PSIFUMIN= 57800 PSI
HAGAR HINGES 4-1/2" X 4-1/2" BB1279 134 THICK
ROCKWOOD 580 SURFACE BOLTS

TVES 360 SURFACE BOLTS

THRESHOLD PEMKO # 2005AV W/ 1/4" TCW TAPCONS
3/6"X 5" DYNABOLT SLEEVE ANCHOR BY ITWIREDHEAD WITH 3/6° EMT WELDED PIPE SLEEV]
1/4" STAINLESS STEEL FLATHEAD BOLTS/LOCK WASHERS/NUTS {SURFACE BOLT SCREWS]
PDQ MORTISE LOCK MR117

SCHLAGE MORTISE LOCK L0453P OR SARGENT MORTISE LOCK'MODEL tmsLN (70 PSE ONLY]
PEMKO DOOR TOP WEATHERSTRIPING 347/68 W/ #6 X 515" SCREWS
-__|PEMKO GASKETING 375CR W/ #5 X 5/8° SCREWS

PEMKO DOOR BOTTOM SWEEP 368CN W/ #6 X 5/8" SCREWS
PEMKO PERIMETER GASKETING 312CR W/ #6 X 5/8" SCREWS

4
 J|15 | AS NEEDED [EXPANDED POLYSTYREN (EPS) BY APPAGHE PRODUCTS (CURRENTNGA)
1AM x 3 Stam]ess E 1 VINYL GASKETING (THRESHOLD) )
[ri” 14 e-Steel Flat Head—s ne
' BoltsfWashers/Nuts
PROBUCT REVISED

: | v Tem#3 - with theFlorids
. b‘z/. : , Boidihg Goge

Astiptance NoO '/ ~0220 0 2-
' Sagirntion

7G”?1“€e S Jﬁnﬁg 7 Ga. Hinge - _ | _.""" - Ci /:

,, . Exterior . _ . . ~ . —
Rﬁuﬁbmem_n’c - N3 . Reinforcement ' C T ) i - : d/

mhudd 580 _Ives 380 Flushhol
n’:sm?n (Ltern #4) (Itemsi Is

g
- .

a”".r

- 7 Ga. Hinge
Reinforeement

-NN-\—‘-la;ﬁ-*N#mN-x

wMAXSHIM (| | Y

| ourswig: Steer. dooks - . |

. 1-3/4" THICK

%" MAX SHIM

Perko 312CR Penmeter Gas]-etmg (Itezlt #l 4)
. w.f #6 x 5R" Sc::ew; £" on Center

Pexike 375CR Gas]:etmg
- w.f H#6 x 508" Screws 6" an Center
' r_.'Both Sidss ( Ttexy #12)

Jo GAUGE COMMERGIAL

. Drawing# Séries16GACOSD © . ]

Hurricane Test Approval .- .

T et Srike Plate——r—=
13 __' - I3A

1 . K1 = 1




